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2/1 - Percent Equations: finding the percent uLk.vlv

What percent of 48 1s 12? i of " means %
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What percent of 40 1s 64?
P 40 = oY
4o e

p=[O%
64+40=169,

Don't forget the
% in your answer!




84 1s what percent of 98?
H= p-T&
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84 + 98 =
0.85714285744285-
-




What percent of 151 1s 70?

p - 1Dl =710
151 (D¢

D =946 -+%
70 =151 =

0.46357615894039-
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What percent of 118 1s 139?
- L(RB= |29
113 (1

P = lTT.R”%

139 + 118 =
1477966101469492—




35.7 1s what percent of 567

26 5
= P




domcwanbh

Melon WJS

D Thursday




